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West Bengal Police Exam. – Practice Set
Answers with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (d) ›£yþ™p˜¨öì„þ òvþz_îû ¦þyîûöì“þîû ²Ìí› ú!“þ£y!¢„þ ¢ÁËyÝþó îœy
£ëûÐ

2. (c) òþ™![þ“þ ¢îÅßþºó @ùÌsþi!Ýþîû öœ…„þ £öìœ˜ £œyëû%•Ð
3. (d) ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû 76 ˜‚ •yîûy x˜%ëyëû# îûyÜTÉþ™!“þ xÄyÝþ!˜Å

ö‹˜yöìîûœöì„þ !˜öìëûy† „þöìîû íyöì„þ˜Ð
4. (c) !þ™Šéöì̃ îû !”„þ öíöì„þ xy¢y ëy˜îy£˜ ö”…yîû ‹˜Ä †y!vþüöì“þ

vþz_œ ”þ™Å’ îÄî£yîû „þîûy £öìëû íyöì„þÐ
5. (b) ö‹öìœþ™ œy !†!îûþ™í!Ýþ !£›y!o !£›yœöìëû xî!ßþi“þÐ
6. (a) ¢)e!Ýþ £œ–

xy
x y

100
  [x = ÷”‡ÅÄ î,!kþ, y = ÷”‡ÅÄ £Éy¢]

10 10
10 10

100


  

= 10 – 10 – 1 = 10 – 11 = –1
 öÇþešþœ 1% £Éy¢ þ™yöìîÐ

7. (b) 12 × 11 = 132
 13 × 12 = 156

8. (b) Ÿöì·îû “þ#îÊ“þyîû þ™!îû›y’ övþ!¢öìîœ ~„þöì„þ þ™!îû›yþ™ „þîûy £ëûÐ
9. (d) !îÙ» ßþºyßþiÄ !”î¢ ²Ì!“þ îŠéîû 7 ~!²Ìœ þ™y!œ“þ £ëûÐ 2021

¢yöìœîû !í› £œ Building a Fairer, Healthier World.
10. (c) 'The Living Mountain : A fable far our Times'

î£z!Ýþîû öœ…„þ £öìœ˜ x!›“þy¦þ ö‡y¡ìÐ
11. (a) 360 ¢‚…Äy!Ýþ 24, 30, 36 myîû !î¦þy‹ÄÐ
12. (a) Ram = 18 1 13 [R = 18, a = 1, m = 13]

Dog = 4 15 7 [D = 4, o = 15, g = 7]
Fox = 6 15 24 [F = 6, o = 15, x = 24]
Hub = 8 21 2 [H = 8, u = 21, b = 2]

13. (a) ¢D#“þy îû’‹öìëûîû ›y¢“%þöì“þy öîy˜ £ëûÐ
14. (c) ¢Á±!“þ !îû‹y¦Åþ îÄyBþ £z!uþëûyîû ‰þ“%þíÅ övþþ™%!Ýþ †¦þ˜Åîû !£¢yöìî

!Ýþ îû!îŸBþîûöì„þ !˜ë%_« „þîûy £œÐ
15. (a) xy„þyŸ†Dy Šéyëûyþ™öìí xî!ßþi“þ Ç%þo“þ› îÏÄy„þöì£yöìœîû ˜y›

£œ The UnicornÐ
16. (b) MISUNDERSTANDING Ÿ·!Ýþöì“þ K ö˜£z “þy£z

MISTAKE Ÿ·!Ýþ ÷“þ!îû „þîûy ëyöìî ˜yÐ

17. (a)

25

30

30

40

45°

~…˜ ö¢ vþz_îûéôéþ™)îÅ !”öì„þ ‰þœöìŠéÐ

18. (a) ¢y“þþ™%îûy þ™îÅöì“þîû ¢öìîÅyF‰þ Ÿ,öìDîû ˜y› £œ •)þ™†vþüÐ
19. (c) CGS þ™kþ!“þöì“þ “þyþ™@ùÌy!£“þyîû ~„þ„þ „þÄyöìœy!îû/!vþ!@ùÌ

ö¢œ!¢ëûy¢Ð
20. (a) ¢‚ë%_« xyîûî xy!›îûŸy!£îû ›%oyîû ˜y› £œ !”îû£y›Ð

21. (a) 1!Ýþ î£zöìëûîû e«ëû›)œÄ
10

11
  Ýþy„þy

1!Ýþ î£zöìëûîû !îe«ëû›)œÄ
11

10
  Ýþy„þy

 œy¦þ
11 10 121 100 21

10 11 110 110


     Ýþy„þy

 Ÿ“þ„þîûy œy¦þ
21 22 100

21%
110 10

 
 


22. (c) CPU £œ ö¢rÝþÆyœ ²Ìöì¢!¢‚ £zvþz!˜ÝþÐ
23. (c) „þ!Á™vþzÝþyöìîûîû òxy£z!¢ !‰þþ™¢ó !˜›Åyöì’ !¢!œ„þ˜ îÄî£*“þ £ëûÐ
24. (c) xye«yhsþ ›y˜îöì”öì£îû xöìsþf ~£z îÄy„þöìÝþ!îûëûy îy¢y î¤yöì•Ð
25. (c)

26. (d) Cséôé~îû þ™yîû›y’!î„þ ¢‚…Äy 55Ð ~!Ýþ þ™ëÅyëû ¢yîû!’îû îy›!”öì„þ
˜#öì‰þîû !”öì„þ xî!ßþi“þÐ ~!Ýþ ö“þ‹!ßþ;þëû ö›ïœ ˜ëûÐ

27. (b)

28. (c) ŸB%þîû xyëû“þ˜

1 22

3 7
 × 2 × 2 × 3 ö¢!›3 =

4
12

7
ö¢!›3

29. (a) 90 !œÝþyöìîû !šþ˜y£zœ xyöìŠé
2 36

90
25 5

   !œÝþyîû

 ç£z !›×öì’ ‹œ xyöìŠé
23 414

90
25 5

   !œÝþyîû

~…˜ x !œÝþyîû ‹œ ö›Ÿyöì̃ y £öìœ–
36 414

: x 3 : 37
5 5
   
 

îy–
36 3

5x 414 37



îy– 15x + 1242 = 1332

îy– x = 6 !œÝþyîû
30. (b)

31. (c)

32. (d) 1904 !…ÊÞÝþyöì· ßþiyþ™˜ „þöìîû̃ Ð
33. (a) !“þ!˜ „þœ„þy“þy !îÙ»!î”Äyœöìëûîû ²Ìí› ¦þyîû“þ#ëû vþzþ™y‰þyëÅ

!Šéöìœ˜Ð
34. (a) ëy“þyëûyöì“þ 2 !„þ!› öëöì“þ îÄ!_«!Ýþîû ¢›ëû œyöì†

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 9– £z¢%Ä éôé 5  ö¢öì²WzÁºîû 20212

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1 1 9

10 8 40
   
 

‡ ù̂Ýþy

 ö¢ 1 ‡ ù̂Ýþyëû ëyëû
80

9
 !„þ!›

 “þyîû †vþü †!“þöìî† £œ
8

8
9

!„þ!›/‡ ù̂Ýþy

35. (b)
25 15

x 4 80
100 100
   

 25x + 400 = 1200  x = 32
36. (c)
37. (a) ~£z þ™îÅ“þ!Ýþ ›•Ä²Ìöì”öìŸîû ¢y“þþ™%îûy þ™îÅ“þöì×!’îû xhsþ†Å“þÐ

x›îû„þ ù̂Ýþ„þ þ™îÅ“þ ­ ˜›Å”y ˜”#îû vþzêþ™!_ßþiœ– !îõþÄ þ™îÅ“þ ­
›y£# ˜”#îû vþzêþ™!_ßþiœ– ›£yîyöìœÙ»îû ­ „,þ¡Œy ˜”#îû vþzêþ™!_ßþiœÐ

38. (d)
39. (c)
40. (c) þ™yîûöì”îû †œ˜yBþ 234.32 KÐ
41. (a) 1920 ¢yöìœ !“þ!˜ ~£z þ™”„þ “þÄy† „þöìîû̃ Ð
42. (b) 60 ç 80 ~îû ›öì•Ä vþzþ™!ßþi“þ ö›ï!œ„þ ¢‚…Äyîû ¢›!ÜT

= 61 + 67 + 71 + 73 + 79 = 351
43. (c)

44. (c)
11.55 100 22 21 1155

2 7 2 2


     rl l

35

2
 l

ŸB%þîû œÁº vþzF‰þ“þy
2 2

2 2 35 21
l r

2 2
         
   

35 21 35 21

2 2 2 2
         
   

28 7 14    ö¢!›
45. (a)
46. (b) ~!Ýþ ~„þ!Ýþ „,þ!¡ì !î¦þy†Ð
47. (b)  42 = 7 × 6

 ~öìÇþöìe !˜öì’Åëû ›y˜ £öìî = 7
48. (a)
49. (c)
50. (c)
51. (b) 400 !œÝþyöìîû ‹œ xyöìŠé

1 25
400 12 % 400 50

2 2 100
    


 !œÝþyîû

x !œÝþyîû ‹œ ö›Ÿyöì̃ y £öìœ–
1

(400 x) 37 % 50 x
2

   

îy– 3000 + 75x = 10000 + 200x

îy– 125x = 2000 îy– x = 160 !œÝþyîû
52. (b)

53. (b) ¢‚…Äy!Ýþ x £öìœ– x – x  = 90

îy–   x 10 x 9 0  

 x = 100 [x > 0]
54. (c) ~£z •îûöì̃ îû ²ÌöìÙÀ ¢)e!Ýþ £œ

12 + 22 + 32 + 42 + .... = 32!Ýþ î†ÅöìÇþe xyöìŠéÐ
55. (b) îyœ †Dy•îû !“þœ„þ öœy„þ›y˜Ä ˜yöì› þ™!îû!‰þ“þÐ
56. (a) xöìÝþyöì‹yöì›îû ¢‚…Äy 22 ö‹yvþüy– ö”£öì„þyöìŸ öe«yöì›yöì‹yöì›îû

¢‚…Äy 23 ö‹yvþüyÐ
57. (c) ‹!› ­ îÄ!_«†“þ ¢Á™”– £y¢þ™y“þyœ ­ ¢y›y!‹„þ ¢Á™”–

›£y¢y†îû ­ xyhsþ‹Åy!“þ„þ ¢Á™”

58. (a)
PTR

I
100

  Ýþy„þy

100I 100 1625
P 5200

TR 5 6.25


   


59. (c) 1928 !…Ê. ¦þyîûöì“þ ~öì¢!ŠéœÐ
60. (b) öŠéyÝþ ö†yœ„þ¢‚…Äy

 

3

3
3

3

4 28
143 2 4 64

4 3.53.5
3

         
 

!Ýþ

61. (b)
62. (b) 1886 ¢yöìœ ö˜ïîû!‹îû ¢¦þyþ™!“þöìc „þœ„þy“þy x!•öìîŸöì̃

!“þ!˜ öëy†”y˜ „þöìîû̃ Ð
63. (a) A ~îû 300 Ýþy„þy x ›y¢ …yÝþöìœ A, B, C ~îû ›)œ•öì̃ îû

x˜%þ™y“þ £öìî–
x

800 300 : 700 : 900
12

    
 

x
8 : 7 : 9

4
   
 

Ÿ“Åþy˜%¢yöìîû– 9
300 108

x
8 7 9

4

 
  

îy–
x 300 9

24
4 108


 

îy–
x

25 24
4
 

îy– x = 4

 12 – 4 = 8 ›y¢ þ™îû A xyîûç 300 Ýþy„þy !”öìëû!ŠéœÐ

64. (a)
1 12 7

2 1 1
16 x 9
  
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

33 16
12 x x 44

16 9
     

65. (d)

„þyîû’– îy!„þ !‰þe=!œöì“þ îvþü ‹Äy!›!“þ„þ !‰þe!Ýþîû ›öì•Ä !¦þ§¬
xy„þyöìîûîû ~„þ£z ‹Äy!›!“þ„þ !‰þe xyöìŠéÐ !„þlsþ (d) !‰þe!Ýþöì“þ
îvþü ‹Äy!›!“þ„þ !‰þöìeîû ›öì•Ä !¦þ§¬ ‹Äy!›!“þ„þ !‰þe xyöìŠéÐ

66. (b)
n 1 n

n 3 n 2

10 2 4 2

14 2 12 2



 

  
  
 
 

n n

n 2 n

2 20 4 2 16 1

2 28 12 2 4 16 4

 
  

  

67. (d)
 10000 t 2 46000 t 6

100 100

   


îy– 360t = 400t – 800
îy– t = 20
 !˜öì’Åëû ¢›ëû 20 îŠéîûÐ

68. (c)
69. (b) A ~îû 40% = B ~îû 50%

40A 50B A B

100 100 5 4
   

5B
A : B : B 5 : 4

4
  

70. (c)

71. (a)
k k 100

0.62 100 62 100 62
62

    

k100 100

k 1

 
 

72. (b) ¢›!mîyý !e¦%þöì‹îû öÇþešþœ
2

21

2 2
     
 

xþ™îû îyý¦)þ!›þ ¢›y˜ îyýîû ~„þ!Ýþ ÷”‡ÅÄ

2
21 8 1

8 5 8 3 12
2 2 2

         
 

î†Åöì¢!›

73. (d) 1/2 3/6 1/6

1/2 3/6 1/6

2 2 2 8

3 3 3 27

  

  
1/3 2/6 1/63

1/3 2/63

2 2 2 4

4 4 4 16

  

  

 öŠéyÝþ ¢‚…Äy!Ýþ £œ 1/6 34 2

74. (d) N A T I O N E A R N
4 6 7 2 3 4 1 6 5 4
A T T E N T I O N
6 7 7 1 4 7 2 3 4

75. (d) •!îû– !îe«ëû›)œÄ = x, e«ëû›)œÄ =
8x

3

Çþ!“þ
8x 5x

x
3 3

  

 Çþ!“þ

5x
1253 100% % 62.5%

8x 2
3

   

76. (c) œÁº 2 2 2 25 4   x!“þ¦þ%þ‹ ¦þþ) !› = 3 ö¢!›

 !e¦%þöì‹îû öÇþešþœ 1
4 3

2
   ö¢!›2 = 6 ö¢!›2

77. (b) x ~îû ²Ìy® ¢%” = y ~îû ²Ìy® ¢%” = z ~îû ²Ìy® ¢%”

x 9 4 y 8 3 z 6 6

100 100 100

     
  

 3x = 2y = 3z

x y z

2 3 2
  

 x : y : z = 2 : 3 : 2
78. (c) (a) 18 + 3 × 2 ÷ 8 – 6  18 × 3 + 2 – 8

÷ 6 =
2

54
3
 40

(b) 18 + 3 ÷ 2 × 8 – 6  18 × 3 + 2 + 8

÷ 6 =
1

53
3
 44

(c) 18 – 3 + 2 × 8 ÷ 6  18 ÷ 3 × 2 + 8
– 6 = 14
(d) 18 – 6 × 2 + 8 ÷ 6  18 ÷ 6 + 2 × 8
– 6 = 13  15

79. (c) 4, 12 ç 18 ~îû œ¢y= = 2 × 2 × 3 × 3 = 36

36) 9999 (2777
      72
      279
      252
      279
      252
        27

9999 – 27 = 9972 ‰þyîû xöìBþîû î,£_› ¢‚…Äy ëy 4, 12

ç 18 myîûy !î¦þy‹ÄÐ
 !˜öì’Åëû ¢‚…Äy!Ýþ = 9972 + 7 = 9979

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

——————

80. (c) ¢%¦þy¡ì  ›y  ßþºy›#  ›y S›!£œyV  þ™%e
„þy„þy S›yéôé~îû ßþºy›# xíÅyê !þ™“þyîû ¦þy£zV

81. (c) ¢‚…Äy!Ýþ x £öìœ x3 – x2 = 180
îy– x3 – 216 – x2 + 36 = 0
îy– (x – 6)(x2 + 6x + 36) – (x + 6)(x – 6) = 0
îy– (x – 6)(x2 + 5x + 30) = 0
 x = 6 [x2 + 5x + 30  0]

82. (b) öŸ¡ì öíöì„þ xþ™Åöì’îû îûÄyBþ = 17 + 7 = 24“þ›
²Ìí› öíöì„þ xþ™Åöì’îû îûÄyBþ = 39 – 24 + 1 = 16“þ›

83. (d) ”%œyœ ›)œ•öì̃ îû
2

3
 x‚Ÿ 9 ›yöì¢îû ‹˜Ä !î!˜öìëûy† „þöìîûÐ

•!îû– îîû&’ îy!„þ
2 1

1
3 3

   
 

 x‚Ÿ x ›yöì¢îû ‹˜Ä

!î!˜öìëûy† „þöìîûÐ ”%œyœ ç îîû&öì’îû ›)œ•öì̃ îû x˜%þ™y“þ
2 1

9 : x 18 : x
3 3
   

”%œyœ ç îîû&öì’îû œ¦þÄy‚öìŸîû x˜%þ™y“þ
3 2

: 3 : 2
5 5
 

²ÌÙÀy˜%¢yöìîû– 18 : x = 3 : 2  x = 12 ›y¢
84. (a) L J H C I A

–1 +1 +1 –1 +1 +1
K K I B J B

85. (c) !˜öì’Åëû ”)îûc  2 23 4 5    !„þ!›

3

3
55

D

4
A E

9

B C

86. (b)

6 8 10 12

+2 +2 +2

20 14 8 2

–6 –6 –6

87. (b) D ç E vþz¦þöìëûîû àþy„%þ›y AÐ

D E

B A C

¦þy£z

þ™%e „þ˜Äy àþy„%þ›y

ŸyÖ!vþü þ™%e

88. (c) 18M36L12K6J7  18 × 36 ÷ 12 – 6 + 7
= 55

89. (c) îÄy…Äy ­ U ~î‚ Z ~îû ›yöìGþ X îöì¢öìŠéÐ
90. (c) XXIV × 2 = 24 × 2 = 48

 XIV × 2 = 14 × 2 = 28
91. (b) (A) 18 + 6 – 7 + 5 × 2

 18 ÷ 6 + 7 ÷ 5 – 2 =
2

2
5
 20

(B) 18 + 6 ÷ 7 × 5 – 2  18 ÷ 6 × 7 – 5
+ 2 = 18

(C) 18 × 6 + 7 – 5 ÷ 2  (18 – 6 ÷ 7 + 5

× 2) =
1

27
7
 16

(D) 18 × 6 – 7 + 5 × 2  18 – 6 + 7 ÷ 5

– 2) = 2
11

5
 22

92. (c) x¢› ö„þy!¦þvþéôé19 x!“þ›yîû#îû „þyîûöì’ x˜yí £çëûy !ŸÖöì”îû
‹˜Ä 'Sishu Seva Scheme' ˜y›„þ ²Ì„þÒ ‰þyœ% „þîûœÐ

93. (d) !îÙ» ¢‚†#“þ !”î¢ ²Ì!“þ îŠéîû 21 ‹%̃  þ™y!œ“þ £ëûÐ
94. (c) ¦þyîû“þ#ëû ›!£œy îÄyvþ!›rÝþ˜ ö…öìœyëûyvþü !þ™ !¦þ !¢õ%þ þ™îûþ™îû

”%!Ýþ x!œ!Á™öì„þ þ™”„þ !‹“þöìœ˜Ð 2016 !îûç x!œ!Á™öì„þ
öîûïþ™Ä þ™”„þ ~î‚ 2020 öÝþy!„þç x!œ!Á™öì„þ öîÊyO þ™”„þ
!‹“þöìœ˜Ð

95. (a) x¢› îûyöì‹Ä !îöìÙ»îû ²Ìí› !‹˜†“þ¦þyöìî ¢‚öìŸy!•“þ îûîyîû
‰þyîûy öîûyþ™’ „þîûy £œÐ

96. (c) 'Growing up Biden' î£z!Ýþîû îû‰þ!ëû“þy £öìœ˜ ›y!„Åþ˜
ö²Ì!¢öìvþrÝþ ö‹y îy£zöìvþöì̃ îû öîy˜ ¦þÄyöìœ!îû îy£zöìvþ˜ çöìëû̃ Ð

97. (a) 'Monk in a Merc' @ùÌsþi!Ýþîû îû‰þ!ëû“þy £öìœ˜ xöìŸy„þ
þ™y˜y†!îûëûyÐ

98. (a) ²Ìí› ›!£œy !e«öì„þÝþyîû !£¢yöìî öŸšþy!œ î›Åy ²Ìí›îyîû ~„þ!Ýþ
öÝþÞÝþ ›Äy‰þ !“þ˜!Ýþ Šéëû ›yîûöìœ˜Ð

99. (c) 2021 ¢yöìœ ‹yþ™yöì̃ îû š%þöì„þy„þy @ùÌÄyuþ ²Ìy£z‹ !‹“þöìœ˜ !þ™
¢y£z̃ yíÐ

100. (b) 2021 ¢yöìœ öþ™˜ !²ÌrÝþyîû ²Ìy£z‹ öþ™öìœ˜ !ÝþÆ!¢ vþy˜†yöìîûÁºyÐ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å


